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PHIL.OSOPHY

Paper — 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  In vedic tradition the movement of carth was regulated by
(1} Brahman (2) ISvara

(3) Rta (4)  Sirva

2, Which type of tna in Vedic tradition can be repaid by performing Yajna ?

(1) Rsirna (2)  Devarna

(3) Pitrrna (4)  Prthvirna

3. The term *Parvava’ in Jaina thought refers to

(1)  Agantuka Dharma (2)  Nitva Dharma

(3)  Manah Paryaya (4)  Navya

4. (riven below arc an Asscrtion (A) and a Reason (R). Consider them and select the correct
code given below in the context of Carvaka Philosophy.

Assertion (A) : The dead body must be conscious.

Reason (R) : Consciousness is an attribute of body,

Codes :

(1Y (A)and (R) both are true and (R) 1s the correct explanation of (A).

(2)  (A)and (R) both arc true and (R) 1s not the correct explanation of (A).
(3)  (A)istruc and (R) 1s falsc.

(4)y (A} s false and (R} 15 true.

e

Who among the following holds that bluc colour and the knowledge of the blue colour arc

one and the same 7
(1) Brhaspati (2)  Vasubandhu

(3) Bhasarvanjna (4) Prabhakara

Paper-1I 2 JA-003-17
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6.  Consider Set — I and Set — I and select the code correctly matched given below :

<l,

d.

(1)
(2)
(3)
(4)

7. According to the Naryayikas Samavava s perceived by the Sannikarsa known as

(1)
(3)

8. In Nyaya Philosophy of language [Svareccha 1s :

(1)
(2)
(3)
(4)

9. Which system takes the help of adrsta to prove the existence of god 7

(1)
(2)
(3)
(4)

1, Select the code that states the correct sequence .

(1)
(2)
(3)
(4)

Paper-II

Set -1 Set — 11
Pancasila By Nyaya
Pancavavava 11. Bauddha
Pafnca paramesti 11, Jaina
Paricaklcsha v,  Yoga
a b g d
i i m1v
1 1y i
1 i - 1v
8 i i A%

Samavava

Samyukta samavava

The cause of sakn
The cause of I,akf»;;anﬂ
Sakti itself

The cause of Sahdabodha

Nyava only

Nydya and Vaiscsika

Nvava, Vaiscsika and Yoga

Yoga and VaiscSika

ksipta midha viksipta ckdgra niruddha

Samaveta samavava

Viscsanata

midha Kksipta viksipta ckagra, niruddha

ksipta viksipta mudha ckagra, niruddha

niruddha, ckagra, Midha ksipta viksipta

4
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a.  TEIIA 3 =

b.  THEETe T 4

c.  TUH TS i,

R L) iy, AN
a b C d

(1) 1 11 1y

(2) 1 Hr 1 1

(3)y u 1 1y

(4) 1l i i v

7. TgEe g7 Targ Tee S STy 9w 25 €S9 ST ST €

(1) wHaH (2) THad Ha™
(3) TR THE (4)  TagmooTEr

8, T WIOTEYH T SYEEd €

(1) 9Tad 1 SR

(2) TV =T SHIU]
(3) = i
(4) TI=ETE F FR

9,  TYeR % weed I fog F o o eiated O ¥ #5129 gt % veradr Fe F 2

(1) Had =g

(2) T AT TIIUE
(3) =, A9 ST T
(4) =T 3T PO

10. T&l 9 T GATTT F F [0 Tal HE H1 F9 HIT

(1) W@ gz fakma usw Mo

2y TE Ta fah a uEw, e

(3) T Tl wE U, FEE

(4) TT5g, vEm, g7 fawa i

JA-003-17 5 Paper-II



www.prepp.in rrepp

1.

12,

13.

Your Personal Exams Guide

Match List — I with List — II and choose the correct answer with the help of codes given
below

[ist =1 List =11

a. Abhihitanvava vada . Mandana
b. Anvitablidhana vada 1. Kumarila
c.  Sphotavada 111, Prabhakara
d. Apoha vada v, Dinnaga
Codes :

a b e d
(1Y 1 il v 1
(2) n 111 1 %
(3) 1 11 11 1V

(4)y 1 i v 1

Match Last — I with List — I and choose the correct answer with the help of codes given

helow :
[ast =1 List — 1T

a. Samkhva Darsana 1. Asatkarva vada
b. Dvaita Vedanta 1. Vivartavada
s Advaita Vedanta 1. Sadasatkarva vada
d. Nvava Darsana 1v. Satkaryva vada
Codes :

a b C d
(1) IV 1 11
(2) 1v 11 11 1
(31 1 11 11 1V
(4)y 1 1 v 111

(riven below are an Asscrtion (A) and a Reason (R). Consider them and select the correct
code given below in the context of Sankara’s Philosophy,

Assertion (A) @ Brahman s abhinna nimitto padana Karana of jagat.

Reason (R) : There 1s nothing other than Brahman,

Codes :

(1} Both (A)and (R) arc truc and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) arc true and (R) 1s not the correct explanation of (A).
(3)  (A)isfalsc and (R) 1s truc.

(4) Both (A) and (R) arc falsc.

Paper-1I 6 JA-003-17
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o

(1)
(2)
(3)
(4)

G DIEEIC ., I
TR i, TR

38 1V EI\JE‘_::| I
a b

o
g

11 1 v 1
11 1 i v
i 1 m v
11 i v 1

12, @l — | 5 909 gy — 11 5 GATd Siieir 7 = {70 %2 7 F 081 3T H =T FHifT ;

<.

b.

d.

(1)
(2)
(3)
(4)

it - 1 et — 11

ATET 291 . STOERIgER

375 d agd i, TEHIHIATR

SRS v, TR
a b % d

11 IV 1 11
IV 11 11 1
1 11 111 IV
11 1 v 111

13. e &0 T ot 9 Ues i AT (A) 3T 530 %1 %6 (R) &1 ST A K & |

FTERY ST o WaH T A G0 T 21 T T T8l 3T T = il :
AAHAT (A) ST ST = AR HR0T E

a% (R) T H T $T A EE
ETE

(1)
(2)
(3)
(4)

JA-003-17

ST (A) 3T (R) W8T § 2T (R), (A) & Wl &M@ g |
AT (A) 3T (R) TR & T (R), (A) T Tl =4 T2 § |
(A) ITHT & 2T (R)TET 7 |

TAT (A) 3T (R) 2THT E |

Paper-1I



www.prepp.in

14,

16.

17.

I8.

19,

Paper-II 8

prepp

Your Personal Exams Guide

Select the correct sequence of the gradations of Moksa in Madhva Vedanta

(1) Savupva.

Sarupva, Sﬁnﬁpya, salokva

(2)  Salokva.

Samipya, Sartipva, Savujva
(3) Sarlpya,

(4)y  Salokva,

Samipya, Salokva, Savujva,

Savujya, Sarlipya, Samipya,

In the view of Sankara, the only pramiana that imparts knowledge of Brahman 1s

(1} Arthapatti (2)  Pratyaksa
(3)  Anumana (4)  Sabda

The Indian philosopher who makes a distinction between Anupramana and Kevala

pramana 1s

-

(1} Patamalh (2} Sankura
]

(3)  Madhva (4)

ISwarakrsna

One of the steps in Sadhana Catustaya according to Sankara is

(1)  Prakrti— purusa jfiana (2)  Mumuksuttva

(3) Nitvavibhuti ;nana (4)  Anumaina [niana

The teaching common to all the vedanting 1s that Brahman is
(1}  Nirguna (2)  Saguna

(3) Saguna — nirguna (4)  Ananta

Given below are some modes of subjectivity

I Bodily Subjectivity

1. Psychic Subjectivity

i, Spiritual Subjectivity

v,  Religious Subjectivity

Which threc modes of Subjectivity arc accepted by K.C. Bhattacharya ? Select the correct
answer from the codes given below |

Codes :

(1 1 v

(2y u o v

(3) 1 1 11

4y 1 1 v

JA-003-17
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(1) EEsg, OTEE, T, S
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(1) T (2)
(3) e (4)

17. T & 3TOR A6 924 & W 0 U UFH ©

(1) VHE-T5 T (2)

(3) TAeatenya = (4)

18, ol gevhaal & To70 T g2 91e 7 ToF 9T
(1) e | (2)
(3)  GUFeT E | (4)

19, = SMERFA F F© TR [U TG -
1, SRR 2{TEATRd
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ST | = E e IR R T
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& E, YETEE §RT AT o i § 7 T W@ & 2 A9 €U 77 %21 § 9 T 36 H 99T

s -
&

() i i v
(2) i i v
3) i i i

(4) 1 i v

JA-003-17 9
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Which onc of the following holds the view that “when vou deprive truth of its appearance, it
loses the best part of reality” 7

(1Y S Aurobindo (2}  Tagore

(3) J. Krishnamurti (4)y Vivekananda

Who among the following holds the view that “spacc, time and causation arc not
metaphysical realities, they are mere forms’ 7

(1) Tagore (2)  Vivekananda
(3) Radha Krishnan (4) ] Krishnamurti

Who among the following holds the wview that ‘creation 1s plunge of the spirit mto
ignorance’ ?

(1} Tagore (2)  Gandhi

(3)  Vive Kanandan (4)  Sri Aurobindo

Match List — I with List — II and sclect the correet answer from the code given below :

List -1 List - II

(Thinker) (Thinking)
a. Radha Krishnan 1. God as the Supreme ¢cgo
b.  Tagore 1. Village Republic

Crandhi iti.  Doctrine, Devotion, Worship
d.  Igbal 1v.  Religion 1s home sickness
Codes :

a b c d
(1 1 i m1v
(2} v 1 1 1
(3) ur v i i

4y v i 1

Match List — I with List — Il and choose the correct answer with the help of codes given
below :

List -1 List — 11
a.  Prajna . jagrla
b.  Taijasa 1. susupti
¢.  Vaidvanava 1. Svapna
d.  Advava iv. Turiva
Codes :

a b ¢ d
(1) 1l 1 I v
(2) 1 i i v
(3) 1 i i iv

(4y v 1 i i

Paper-1I 10 JA-003-17
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(3) 1. FOR (4)

FrefatEa 9§ 27 5 forar & 75 991 el S FRUET A 9w T €. 9 SR A
i

(1) =Y (2)
(3) THEFOE (4)

g :
AR

. —
=, ShEITHT

L=a

FfeTiEa o o T8 e = g 19 Yt 31T | 3A7e8 1 (o 8 7
() S (2) TR
(3) TR (4) 1 oRfeT

T | B 119 e e e A ey e e § O wE 39 6 99T i
= - 1 =i — 11
NEEIEED | (feremeameT )

a.  TEFOE i TR UTH HTEIET E |

b. &R ii.  UTHT AT

Tegilaeh 3TaFTla, TTea-Taeh ier,
TSTT-VTAT
d.  FHElE iv., €9 9T % 60 ST € |

a h ¢ d

S T T TR
2y ivoi i i
Hodv i

4y Qv i i

T — 1 o0 = — 11 6 goferd iy 3 A 50 70 el 1 Tl & Tl I BT T2 HioTy -
= - 1 =i - 11

d. st 1.

b. 5 1.

¢, FVEHY iii,

S
T
d. " iv. T

A b ¢ d
(1)} il il i v
(2) i i i v
(3) n 1 HiIv

4y v i i

Paper-1I



www.prepp.in rrepp

20,

27,

28.

Your Personal Exams Guide

Match List — I with List — II and choose the correct answer with the help of codes given
below

List =1 List = 1T

a.  Prakrti 1. Passive
b. Purusa . Active
¢.  Mahat 11, Sceond evolute
d.  Ahamkara 1v. First evolute
Codes :

a b & d
(1y 1 il i A%
(2) 1 1 v o1
(3) 1 IV 1 1

) ivoodi i i

In the context of Locke’s philosophy, consider the given Assertion (A) and Reason (R) and
then mark the correct option as given below
Assertion (A) : All our knowledge 15 A posteriori.

Reason (R) : Knowlcdge is received through sensation and retlection.

Options :

(17 Both (A) and (R) are true and (R) does not provide the correct explanation of (A).
(2)  (A)istruc and (R) is falsc but (R) docs not provide the correct explanation of (A).
(3} (A) s true and (R) 1s false but (R) provides the correct explanation of (A).

(4) Both (A) and (R) arc true and (R) provides the correct explanation of (A),

Match List = | with List — Il and mark the correct code

List -1 List = 1T
a. Hume 1. Parallehism
b. Locke 1. Scepticism

¢. Berkeley 111, Empiricism

d.  Spinoza iv. ldealism
Codes :
a b C d
(1) i i iy
(2y 1 i vl
3y u iy i

4y ivooii i i

Scensationism, Empiricism and Representationism are altogether attributed to
(1Y Hume (2)  locke
(3) Kant (4) Berkeley

Paper-1I 12 JA-003-17
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T — | B G - 11 AT I 2R A9 /U T %2 T ¥ TR ST 1 7T H0
= - 1 Tt — 11
a. THG i, TeRa

™

b, TEU i, whEa
c. Wed i, Tgdr =E w5
d. 3EFR v, WUYH =g BT
E T4

a b i d
(ry 1 11 11 1V
(2) i 1 v 11
(3) 11l IV 11 1
(4) 1v 111 1 1

AT oG9 & W5 U 158 TR MR (A) 3T @& (R) W feaR shifs aar =i fod 72 fesped
T § WET I o1 =T STy

ANTHET (A) ¢ UK T S AT BT & |

T (R) S Tae S TRiEET | e 2 E

ICETC

(1) (A) 3T (R) TH1 T&T €, Tl (R), (A) Tl T&l =R 21 & |

(2)  (A) TR T &% (R) T4 & TG (R), (A) T &l 70 T4 7 |

(3) (A)WE T AN (R) T & T (R), (A) FT Tl 2T 7 |

(4)  (A) 3R (R) TFT &I & &R (R), (A) T T8 =T § |

T — [ 1 Al — || & 919 GHTeTd Shifotd 997 A 1720 T 2] ¥ T8l S 1 T4 Hifo

T - 1 = — 11
A wH 1. AR
b. o ii. IEER
c. FHA i, erTTEEr
d.  TEamsT 1v. WS,
E T4

a b c d

ey i miv
(2) i vl
(3y 1 i1V i

(4y v 1 i 1

GeAas, ST T2T Uia-Tees Aidied 9 9 e ard ¢ 9

() =# (2) ©F
(3) FE (4) FFA

Paper-II
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List — 1 List — 11
(Thinkers) (Books)
a. Locke . Principles of TTuman Knowledge
b. Hume . Principia Philosophia
¢. Decscartes 11 Essay concerning Human Understanding
d. Berkeley tv.  Enquiry concerning [Human Understanding
Codes :
a b c d
by i i 1w
2) i v o1 i
(3) 1 i i A%
(4y v i i
30, The distinction between impression and idea was made by
(1} Kant (2) Locke
(3)  Hume (4) Berkeley

31. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Considering (A) and (R) in the light of logical positivism select the correct code

Assertion (A) 1 According to the principle of verification ‘meaning of a proposition is

the mode of 1ts verification’,

Reason (R) : All the statements which could neither be verified nor falsihied by

expericnee arc meaningful,

Codes :
(1} Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).
(2)  Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3)  (A)1s true, but (R) 15 false.
(4) (A)is falsc, but (R) 1s truc.
32.  Which onc of the following statements is truc with reference to St. Thomas Aquinas 7
(1Y God’s essence 1s identified with Reason.
(2)  God’s essence 1s identified with his existence, as pure actuality.
(3)  God’s cssenee 15 identitied with his potentiality.
(4)  God has only existence, but no essence.

Lad
Lad

As per Aristotle’s distinction between various sciences, “the pure and abstract knowledge”

is dealt by

(1)
(2)
(3)
(4)

Paper-II

Theoretical sciences such as Politics and Ethics
Practical sciences such as Theology and Metaphysics.
Theoretical scicnees such as Mathematics and Physics.
Practical Sciences such as politics and Ethics
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AT — | G - | 6 el i ST T 99 T %2l 9 9 3T g

=t - 1 = — 11

(T=rerem) (31eT)
a. @l L Tiee S g S
b. ¥™ . rarET e
c. THE i, UTH AT g STreEereT]
d. =Fa v, TEETE] T R el e
E A

a b ¢ d

(1) i i i v
(2y 1 v I 1
(3) 1 il Y

@) Qi v i i

TR UF T3 & T a7y % g TR T AT |
(1) =i (2) @i
(3) =#™ (4)  FFA

A el TR S e W W U e (A) AR g w1 A% (R) W A R § | awe

TeETETE S WEN W (A) T (R) T A Sd 3w A 5 e 9 W 2 fafeaa i

ATFHAT (A) 1 T (5T o SR Tl dehara &1 37 9o & TR 6 1

a& (R) ;o T T [STRT TS g A A1 oA [T ST WAl & A 7 & 3% 9
qrfere foram ST Hehell €, T14F & |

He 2

(1) (A) 2R (R) THT TR E 3 (R), (A) T T&l = § |
(2)  (A) 3R (R) 3H1 T&T & 2T (R). (A) &I Tal == 21 ¢ |
(3) (A)HE g Wg(R) o § |

(4)  (A) T & T (R) TR

(1) 39a¥ = O H A g g0 H STl 8 |
(2) WA H R FH TGAM IE T F €9 H IHH TR 3 W H A G |
(3) WEFW?ETWTHWWWEFTWp 1

S
i

T el 2 a9 T o 92 o S9N, “Y[F HN e A H Ao FRIEAE |
(1) TEiivees fas 241 ToHid I 2R A1fd 9

(2) AR TR 9 9a% HIEEr 34T Tears e

(3) Tgriares Tasma @ nioTe S wfifaes fasm

(4) HERING fasi= 47 TsHIId I 2R A I
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Gitven below arce two statements, one labelled as Assertion (A) and the other labelled as
Reason (R}, Considering (A) and (R), mark the correct code,

Assertion (A) @ Plato rejected the view that “knowledge is opinton™ in his theatetus.
Reason (R) : Knowledge must be grounded on faith, and not on Reason.

Codes :

(1} Both (A)and (R) arc truc and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) arc truc and (R) 1s not the correct explanation of (A).

(3)  (A)1s true, but (R) 1s false.

(4)  (A) s false, but (R) 1s true.

“Atoms exist — they are the existent. Empty space exists — cven it it 1s paradoxically called
the non-existent. And nothing else exists.” 1s the philosophical position of —
(1) Ilcraclitus (2)  Dcmocritus

(3)  Anaxagoras (4)  Parmenides

Who among the following believed that “All things arc full of Souls and Spirits™
(1} Democritus (2) Herachtus

(3) Parmcnides (4) Pythagoras

Which of the following statements are truc with reference to Protagoras. Mark the correct
code :

(1) Man is the mcasure of all things.

(11)  Truth 1s objcctive,

(1)  What s true to one person need not be so to the other.,

Codes :

(1} only (1) 1s true.

(2} only (1) and (11) are truc.

(3) only (1) and (i11) arc truc.

(4y  only (1) and (i) are true.

Gilbert Ryle’s theory of “Ghost in the Machine™ rejects
(1) Descarte’s Body-Mind Dualism

(2) Berkeley's Idealism

(3)  Spinoza’s Panthcism

(4)  Rational capacity of the mind as such

Paper-1I 16 JA-003-17
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34. 7T T T R A T W O BT AT (A) ST AT B TF (R) FHA L TLEE | (A) T (R)
O [FH e g0 Hel o Bl =F HI=T
T (R) 1 e ) e el 151 P B s | e Rl - el
A

(1) (A) 3 (R) T91 W& § &R (R), (A) 37 T8 =m@n & |

(2)  (A) SR (R) T TET &, &AfHT (R), (A) Fl &1 20T 1 & |

(3)  (A) @ E, AFT (R) T € |

(4)  (A) 7o &, ©ll% (R) Hel & |

35, CUROM] A A1 & - A0 d T 6 | F0 5% & O § St o ORE ¥ W 2 Fa] ST

& | A ToREr =T B 91 el & | 9% SR i E

(1) ey & (2) TOHET H

L

)

4

(3)  STAFATIRE (4)  OHEATEST

36. TTAfeiEd o T 77 eus fover o & et ey e 3N = O | e

(1) <AmRRIE (2) wERIRE

4

(3)  TRHHeS (4) e

37, Ve % wey § frefeiEn § 9 AE © wuE O E 0 98 3 o 9 Fee
(i) T o Se o AR E | ERE

(i) ¥ TS |

(i) Ve =T o 1o T 9 &, 9 3Tavas 981 1o a8 5 o fol 91 9T &l |
FT

=4

(1) Fael (i) T&T 8 |

(2) A (i) AN (i) TWETE |
(3) IR (1) AT () T F |

(4) A (i) AR (i) TEE |

38, Torge U= & Mg “HYE H Ud" SREERT il &

(1) =& F 5809 F 5admR
(2) el T TEEE

(3) OIS 1 TEveRaTE
(4) T H ARG &
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Match the List — [ with List — Il and sclect the correct answer by using the codes below
List —1 List - II
a.  There must be both unity and opposition 1. Locke
in the Absolute
b, The forms of sensibility are intuitional, the 11, Hume
understanding 1s conceptual
¢. Idcas of substanccs arc inadcquate i, Kant
d.  ldeas are not entirely loose or joined by 1v. Hegel
chance, they introduce cach other with a
certain degree of method and regularity

[

Codes :

a b C d
(1y 1 v 11 11
(2) il 11 A% 1
(3) v 111 1 11

4y i i i v

gel, the absolute mind expresses its essence of truth in the form of Intuition

i

According to He

1n
(1)  Morality )l A%
(3) Religion (4)  Philosophy

‘Bemg-towards-death 1s a constant fleeing in the face of death” expresses the philosophy of
(1) Russcll (2)  Tlusserl
(3)  Heildegger (4)  Moore
Match the List — [ with List — Il and sclect the correct answer by using the codes below
List -1 List =11
a. The sct of all ‘givens’ which T 1. Carc
encounter in my existence
b. The expericnce which discloscs i1, Dasmann
concrete beings over all to us
¢. PEveryone is the other and no one 11, Facticity
ts himsclf

d.  Unity of Existenz, facticity, v, Mood
tallenness
Codes :
a b ¢ d
(1) 1v 1 11 1
(2} 1 v 1 11
(3) 1 1l 1 IV

(4y v i i

Paper-1I 18 JA-003-17
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TeaTaTEa -1 &6 7=1 0 GEli-11 § GHed ity 3T F21 1 T e 50 Tal I8 g
[}
=i - 1 = — 11
a. TUeT O Ushal 3R Widseldl 5E1 & &4 =80 |, oI
b, =T G F AR S UTTEIF BT E il &W
C:.‘..-;:ﬁ '{ﬁ?,:-r -
c. FEAl & UAd I ¢ | iii, I
d.  UFEE O, STOERg A1 ST TOEd Tel e, v, g
g Wes TeHd GiF 9% [9gid 37 999 § U
TR T 0 &

a b C d

My i v i i
() Qi i iy i
(3) v i i i

4y i i Qi v

BNl o STTAIL, THCe] ¥ 377 9ed o W H SR A H AR T
(1) e (14 ¢
3) (4) T3

‘J-CJW{\?HT"I Eﬁﬂﬂ{adl .5{4{] SEZIEAE| g |* %WWW\ Eﬁllcﬂﬂﬂ ] E:r;.

(h 2) 7

(3) ®IEEM (4) W

T - | - 1 % T gt i e A e @ e gee i
el - 1 T - 11

a. 3T WO VSl 1 U= SR 9 3UAl . el
T | R W 6|

b. = oFMa S EON fod wepl ud ow il S
AT FAE |
¢. VEHE TER E ST HT A T 7 | i, TR

d. T, ARl AT UaAeTerer | U iv. g8
E A
a b c d
(1 v i 11 1
2) i iv i i
(3) 1 11 i 1V

4y v i i
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Match the List — [ with List — II and sclect the correct answer. For Descartes, the human

body is like a machine.

List — I List — II
a.  The moving principle of 1. The heat in the heart
body is
b. The organs of motion i, Nerves
¢.  The organs of sensations i1, Muscles
Codes :
a b G

(1 i i i
(2) Qi i i
3) i i i
@) i i i

The *Predicate-in subject’ principle is propounded by
(1} Descartes (2} l.eibnitz
(3)  Spinoza (4)  locke

The essence of the "‘new man’ is joyful wisdom according Lo
(1Y Husserl (2} Moore
(3) Nictzsche (4) Frege

Consider the Assertion (A) and Reuason (R) and select the correct code

below

Assertion (A) @ According to Russcll, ‘Denoting phrases never have any

themselves’,

from weiven

[

meaning n

Reason (R) : 1 In, ‘the brother of Charles [T was deposed’, “Charles I was deposced

is a denoting phrasc’, and thus, has no mcaning,

IT In, ‘the brother of Charles II was deposed’, the brother of Charles [l

1s a denoting phrasc and thus, has no mecaning.

Codes :
(1Y (A)is true and (R) 1, 11 correctly explain (A),

(2)  (A)is true and (R) | 1s correct explanation of (A) and (R) IT 1s false.
(3)  (A)istrucand (R) II is a correct explanation of (A) and (R) [ 1s falsc.

(4)  (A)1s true but neither (R) I nor (R} I correctly explains (A).

Paper-II 20
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43, T - 11 e B R e g e SR e

oohld = [/, AT <8 909 & dig & |

il -~ 1 el = 11

a. g I aHE [Og & i. B T

b. T = 3T
¢, HEET F AT
hd

o

a b
(ry 1 i
(2) 1
(3) i 1
(4) 1 i

ii. AR

i1, feran

o

i
i

11

44, FvI ¥ e [FE i UauE WE T e

(1) = g

(3) T 2T

(2) TR g1
(4) @ B

45, FreteiEa § 9 R SER T9 " H AT A0 5 E

(1) &&a
(3) e

(2) W

=

ey

(4)

46. ITTHAA (A) IR TH (R) W 09X 3 g0 A B0 T &l § F Tl I 1 =99 FHio :

FHHT (A)
7% (R)

7T

N

1 =g 5d@ & 9% & T5d &6a @ H A el FdE % IR A
T T FE A9 TR 7 |

I ‘=mew 5@ % 9% &1 5= (AT &0, =9ed 31 977 U Ta® e §

(1) (A)FIEAT(R) L 1L, (A) o Tl A2 E |

(2)  (A)TEF SR (R) 1, (A) 1 T 20 & 0 (R) 1] TR E

(3) (AT g AT (R)IL (A)H ol & & 0d (R) [ Ted & |

(4)  (A)TETE, ST T & (R) [ 37T 7 (R) 11, (A) =l T&T =A@ ¢ |
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Consider the Assertion (A) and Reason (R) & sclect the correct code given below
Assertion (A) @ Monads have no windows.
Reason (R) : I  Nothing 1s passcd to them from outsidce.
II  Each of their state is gencrated from their own nature,
III Monads do not mtcract.
Codes :
(1) (A)istrucand (R) I, II, IIT arc correct explanations of (A).
(2)  (A)is true and (R) | 1s the only correct explanation of (A).
(3)y  (A)istruc and (R) I, IT arc correct explanations of (A).

(4)  (A)1s truc and (R) I1, IIT arc the correct explanations of (A).

Consider the following statements in the light of Russell’s logical Atomism and mark the

correct code :

(1) Corresponding to individual variables and propositional functions of logic, the world
contains particulars and umversals.

(i)  Corresponding to the particulars and universals of the logic, the world contains
variables and propositional functions.

(1) The world contains  independent  atomic  facts  corresponding to  the simple
Propositions.

Codes :

(1) only (1) 1s true. (2) only (1) and (11) are true.

(3) only (1) and (111) arc truc (4)  only (1) and (111) arc truc.

Consider the following statements in the light of pragmatism and mark the correct code :

(1) Both William James and C.S. Peirce agree completely on the method of pragmatism,

(1)  William James went beyond Peirce i presenting a moral theory on pragmatic
orounds,

(1) C.5. Perrce called his own theory as pragmaticism.

Codes :

(1) only (1) 15 true. (2)  only (1) and (11) are true.

(3} only (11) and (111) are truc. (4) only (1) and (i11) are truc.

Who among the following philosophers advocated “Pragmaticism™ 7
(1Y Wilham James (2} C.5. Pairce
(3) G. Ryle 4y  A.J Aycer

Paper-1I 22 JA-003-17
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AR (A) ST AF (R) W TR o0 Y AT 199 79 2] | Wl 3T o gI i

[l Y by

ATFETT (A) 1 TR TERREE §

a% (R) 1 9T I 3 % ol TeeT 8l g |

Il S0 Uebeh a0 We 9 99iad 89 8 |
1 foeore & .6 <=7 2l |

E A

(1) (A)TETE AR LI L, (A) &1 T8 AT

(2)  (A) W8l & 3T haet (R) [, (A) &I Hal T € |

(3) (AYTEFAT(RY I, 11, (A) T2 == T |

4y (AYTET T AR(RY 1L, 111, (A) ! TR SN E |

TEeT o dTsheh 3TU[EG o Aellsh § FETeiEd 91 TR 6= &g 31T 9 53 7 F 3 T
dx ’q-_)]. !'\_u"\'\-}‘ S :

() % & oareas =3 TG ThaEE YAl o e fGvd T 39T a7 favaenrdr yae

|

(i) % % v 3 faveeand & ey favea 0 3w 27 fovaem wwrr wniee & |

(iil) Torwa | Q=T TeRETEE] & ST Wad WEIvaE 92 8 |

FT
(1) ] (1) T a (2) el (1) Cf:fl'{'(ii}lzl?ﬂ% |

(3) AT (i) AR (i) I E | (4)  FE (ih) A (i) T

() Taferem sty ot 91ug. 99" 59 FeeRaR & 9Eta d 90T T & |

(i) RN ITER 9 e (g1 1 Wad 3 | faiead s 9iad 9 97 2477 3% |
(i) €iuw, 9o F s e S SgRREE FhanE |

T
(1) el () T ¢ | (2) T (i) (i) FAE |

(3) T (i) AN (iii) G F | (4) e (1) 3 (i) TT 7 |

FTErEe 7 9 e gl J tmeielEsy o awea w2
(1) Tafcram s (2) WL Oy

(3) I, TeeT (4) T TR
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